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Wnite down the angles marked with letters. Wnite whether

the angles are complimentary or supplementary?

“ e * Léf” 2) .
()

mea+ S0 =180"
mea = 180° -50°

mZa=130"

(") m<b + 65“ =) 80”
mZb = 180" - 65"
msb=115"

(Supplementary angles) -
(Supplementary angles)

Fa

-

(i) a

2

&
¥y

mZc + 138" = 180"

(1) (
msc=180" -138"
msc =42°

(Supplementary angles)

m<b + 60" = 90"
m<b = 90" = 60"

m<b = 30"

(Complementary angles)



Rectangle


S 263

(V) mce+72" =180"
mZe = 180" - 72" - L
m<Ze = 108" (vi) mzb+70" =90

m<b =90 - 70°
m<£b =20°
(Complementary angles)

L
-

(Supplementary angles)

2. Two angles are supplementary and the greater exceeds the
smaller by 30°. How many degrees are there in each
angle?

Sol: The size of small angle = x Let

The size of large angle = x + 30°

According to statement
x+(x+ 307 = 180°
x+x+30° =180°
2x +30° = 180°

2x = |80° —30°
2x = 150°
0
© = 150
2
x =75°

The size of smal] olc = 75
The size of large angle = x + 30° = 75° + 30° = 105°
angles = 75°, 105°
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If 40° is added 1o an angle, the resulting angle is equal to
the supplement of the original angle. Find the original
angle.

Sol: Let the required angle = x

size of the an-'c after adding = x + 40° ,

The supplement of 1st angle = 180~ x

According to statement
x+40° =180° -x
x+x =180 -40°

2x = 140°
= 140°
.
x=170°
4. The sum of two angles is 100, and the difference between

their supplements is 100°. Find the angles.

Let the size of Ist angle = x°
The size of 2nd angle = 100° - x°
The supplement of x° = 180° - x°

The supplement of 100°-x? = 180° - (1007 - x%)
= 180° - 100° + x°
According to the statement
(180°-100°+x°)—(180°x°) = 100°

186" —IOO“ +I” _m; +.1'” _ ]000

—— e ——— —
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2"~ 100”7 = 100"
2x = 100" + 100"

2x = 2007

)

= 200
2

x = 100°

The size of st angle = 100
The size of 2nd angle = 100° — 100"

s I
=0

. The sum of two angles is 100°, the supplement of the first
angle exceeds the supplement of the second angle 40°.
Find the angles.

Sol: Let the size of 1* angle = x"
The size of 2nd angle = 100° - x°
180" - x"
180° - (100° - x)
= 180° - 100° + x°

= 8(]0 + ",()

W

The supplement of 1st angle

]

The supplement of 2nd angle

According to the statement

180V -~ x“ - 40 =807+ x°
- x% - x° =807 +40° - 180°

~2x% =-60°
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X =300
Ist angle = 30"

2nd angle = 100° - 30

=70°
6. Write the equation for the given trniangle and solve it.
C
2] 3 B
x
A

Sol: The sum of angles of any triangles = 180"

x+90° + 30

il

The sum of angles of AABC

"

x+ 120
According to the statement
x+120° = 180°
x = 180° - 120°
x = 60°

7. Write down the angles marked with letters.

76G) mia= 40" (vertically opp. angles)

7(1)
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.. L™ i} .
7(Gi)  mLce=35 (vertically opp. angles)

msd =145" (verucally opp. angles)

(i) mLe= 29" (vertically opp. angles)

mZf =151"  (venically opp. angles)

7(:79

iv) mLh= 135" (vertically opp. angles)

(P

7 (W)
7(v) msq =170" (vertically opp. angles)
mZp =180-T77" (supplementary angles)

=103°
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7(v)

(vertically opp. angles) ™M<7 = mep
(i) =103"

T(vi)
(vertically opp. angles) msk =150"
(supplementary angles) mZ£i +1 507 = 180"

mZi=180"-150"

msi=30" (1)

msj=msi -

(vertically opp. angles)

from (i) msj = 30"



Rectangle


269

T(vii)
(verically opp. angles) ms h= 40"
(supplementary angles) MZ40 + Zge = 180"

mser=180" =40

7(vir)

mZg = 140" (1)

(vertically opp. angles) mLi=myg and
from (1) = 140"

(verucally oppangles)y  mZk =138 T(viii)
(supplementary angles) m<p+ 138" = 180"
mep =180" -138"

7( Vm)
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msp =42 (1)

(vertuically opp. anples) msl=msp amnd
from (1) msl=42"
(vertically opp. angles) msP=58" 7ix)

(supplementary angles) mzN + 58" = 180"
msN =180" =58

0
! ‘

msN =122" (1)

(vertically opp. angles) v mLM =msN and

from (1) =122"

f
o
O e

T(x)

i
.
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(supplementary angles) mZa+ 22" = 180"
mZa=180" - 22"
mca=158"
(supplementary angles) mZb + 68 = 180"
msbh=180" - 68
msb=112"
(1) PARALLEL LINES
Parallel lines are two straight hines in the same planc
which never meet.
The hines a and b arc parallel, we wnite a || b.

 — .

7 & —
(i) Properties of Parallel Lines
(a) Two lines parallel to a third are parallel to each other.

L > U
7 LA > "
miin
T & > {//m
(b) Il three parallel lines are intercepted by two transversals in

such a way that the two intercepts on one transversal are

cqual to cach other, the two intercepts on lhc second
transversal are also ::qu.nl

e.if AD||BE||CF

AN
N,

c7 - Fi‘?

() If'a linc bisects one side of a tnangle and 1s parallel to a
second side, then it bisects the third side.
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p | c

e it AABC with BD = DA, DE || BC then AE = CE

e b =

w =

Transversal
A transversal is a line that intersects two lines in diffemt points.

P —

w
L s

n
I[ a transversal “t” intersects two parallel lines a and b, the

angles formed are identified as follows:

Four interior angles - L1.£2,43,£44

Four exterior angles  © £5,.£6,£7,£8

Two pairs of alternate interior angles Z1 and L3.and Z4

Two pairs of alternate exterior angles £5 and £7.£6and 8

Two pairs of interior angles on the same side of the
ransversal: 22 and £3.£1 and £4.

Four pairs o‘f corresponding angles: £3 and £7.£4 and
£8:22 and £6.£1 and £5.

Relation Between the Pairs of Angles
If two parallel lines are cut by a transversal, the

* corresponding angles arc equal.

[£1=22.22= £3.£21= £3]
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d) It two parallel lines are cut by a transversal, the alternate
mtenor angles are equal

/

3
4
£
>

-+

a |/ b, lines a and b are cut by the transversal ¢ at point M

and N to form the pairs of alternate interior angles.
(4]..1’2);::::1 (43,14)
L=4223=14

¢) If two parallel lines are intercepted by a transversal, then

pairs of interior angles on the same side of transversal are
supplementary.

AB || CD, lines are cut by the transversal 1. angles a, b, ¢
and d are formed.

(¢) msL2 = ms4
mLl = ms3
(i) mL3 =ms7
msd=msR
mZL6 = ms?
mZLS=ms)
(i) msT =mss
ms6 = msR

(v)  mZ2+ms3 =180"
m)+md4 = 180"
(V) mz5+ms8=180"
ms6+ms7 =180"
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